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Time Allowed :3:15 Hours 

9.1 

ANNUAL EXAMINATION 2023-24 
Subject : Maths 

Class : XI 

All question are compulsory. 
Marks are indicated against each question. 

6. 

(Maths-11) 

6. 3 

aTÈ A=(2, 3, 5) id gTÈ34HYaut t HNfi 

|. 6 

F. 120 

|. 40 

5. X=0,Z=0 

|. Z=0, x=0 

6. 2/7 

Name. 

4/7 

|. 1 

(1) 

g. 32 

E. 8 

G. 60 

a. 70 

Max. Marks: 100 

I. y=0,x=0 

E. 3/2 

1x5 
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92 

Write all M.C.Q. 

(a) 

(b) 

(c) 

(d) 

(e) 

S. 

(a) 

(b) 

(c) 

(d) 
(e) 

IfA= (2,3, 5}, than the number of subsets is -

(Maths-11) 

(a) 3 
(c) 6 

(a) 120 

The total world of India makes. 

(c) 40 

(a) x=, z=0 

(c) z=0, x=X 

Ifa point lies any axis, then what are its >xandz co-ordinate. 

(a) 2/7 

Attempt all parts. 

(c) 4/7 
The value of i73 

(a) 1 

(c) 1 

(b) 32 

The probability of 53 sunday's ina leap year 

(d) 8 

(b) 60 

(d) 70 

Find value of n in p=30. "P4 

(ü) y=0, z=0 
(iv) None of these 

(2) 

(b) 3/7 

(d) None of these 

(2x, x +34)4x 3N y | HTH AIA itfI 

(b) -I 

(d) 0 

Set{1, 2, 3} write all power of sets. 

(2x, x +3y) find the value of x and y. 

Change into degree of 11 redian. 

Arthmatic progression 1 +3 +5+ ...... 

1x5 

find 10th term. 
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9.3 

I.4 

9.5 

(a) 

(b) 

Solve all parts -

(c) 

(d) 

1. 

(a) 

(b) 

(c) 

(d) 

lim x-0 sin4x - sin2x 

. 

. y+4=0 

(Maths-11) 

t2,1,-3) str(4,3-6)òfaâgaId G0lGYI 

Attempt all parts 

Find the value of lim 

X 

X’0 

Expand (1-2x)° by binomial theorem 

sin4x -sin2x 
X 

If"P 

Find the equation of parabolawhich focus (0,4) and difecuiA 
0s y +40 

Find distance between co-ordinate (-2, 1,-3) and (4,3, -6) 

coSA/2 

:"P=1;2 then find the value of x. 

2+4 

af
 HTe A sÌN BgLORfo x(A) = 17, x (B) = 23 irN 

Find 3 Geometrical mean 

2 

2 

(3) 

2 

1 

2 

A ABC Àa =3,b=4, c=2t CosA2 1 HIM SIG ÔGNI 2 

A 

Iftwo sets Aand Bm as x(A)= 17x(B)=23 and x (AnB)=38, the find the value of n (AnB). 

2x4 

2 

2 

2 

If triangle AABC, 9=3, b= 4, c = 2 then find the value of 

uf A 30RBya4t 
(A-B) UB=ABSA 

5x5 
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1. 

. 

. 

(a) 

Attempt any five parts 

(b) 

(c) 

(d) 

() 

(e) 

rtaU x- (a + ib) x + i ab TuT qug tt 

(Maths-11) 

JRfAE1 2x.+ 3ys6, 3x + 24 s6,x20,y20 4Te faf gG 

Derivative of cos x by first principle with respect to x. 

If two sets Aand B. Then prove that (A-8) UB =A> BSA 
Find the equation of hyperbola which directrix 2x+y= 1, 
focus(-1, -1) and eccentricity is V3. 

0vreR JYAdi ueis0 A J0TR B* fTÇ P(A) = P(B)= 

0-10 10-20 

Solve the equation x-(a+ib) x +i ab by factoriration method. 

Solve the equation of in equation 2x+3ys 6, 3x+2y s6, x2 0, 
yz0 by graphical method. 

5 

In How many ways can 6 person be seated at a round table. 

6 

m-1 

20--30 

1 

(4) 

15 

30-40 

5 

16 

5 

fRrE fag fa Sin(60+A) + Sin (60-A) = V3 CosA 

40-50 

5 

6 

5 

die tanA= tan Bz, tan(A-B) 01 AIA G0IEI5 
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5 
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A.7 

9.8 

(a) 
Attempt any five parts 

(b) 

(c) 

(a) 

Class interval 

(e) 

Frequency 

() 

(a) 

o 7+ 77, 777, ... s.... 

. 

(b) 

Iwo 

a. 

TWo mutually exclusive eVents A and B P(A)= P(B)= 

In given table. 

(a) 

then find the value of P(AUB). 

Find the mean derivative from arithmetic mean. 

r=0 

0-10. 

m-1 

Attempt any one part. 

r 

5 

10-20 20-30 30-40 

Prove and 2, n3 =4" 

Attempt any one part. 

15 

If tanA= and tan B= 1ten find the value of tan (A-B). 
Prove that sin (60 +A) + Sin (60-A) =V3 CosA 

If a and b are geometrical mean 
value of n. 

16 

Find the sum ofx terms in given series 7 +77+777+ -----

an-1+ bn-1 

a+bn 

40-50 

6 

1x8 

a + hn-1 then find the 

(x +) in expand then find the constant term fromx. 

Ifx+ x2+x3 + ---.-- 0 and lx\<ithen prove that 

yf Cos (a-B) + Cos (B-y) + Cos (y - a) = --3/2 f fry f Cosa + cosß + Cosy =sina, + Sinß + Siny=0 

1x8=8 
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I.9 

(b) 

. 

. 

(a) 

If Cos (a-p) + Cos (PY)+ Cos (y-o) : 

(b) 

Cos2+ Cosß + 

uf x% 

Attempt any one part. 

63% 

EAtTa+b=1 

then prove that 

Ifa survey 63% Indian like chees. When 70% like apple, if x% Indian like both, then find the value of x. 
Prove that a real value of x is solution of the equation, 
1-0xa -ib ifgiven a+b=1 1+ ix 

1x8 

+Cosy = Sin2 + Sinß+Siny=0 
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